1.  
a. Eskimo Nebula
b. White Dwarf; Yes
c. A companion star
2. 8
3. 9, 14
4. 7, 10
5. 1, 2, 4, 5, 6, 11, 12
6.  
a. 13
b. Louisa D. Wells, 1896
c. Amount of mass in the disk
7.  
a. Stingray Nebula
b. A companion star
8.  
a. 2
b. [bookmark: _GoBack]LMC (Large Magellanic Cloud)
c. Gas shocked by expanding blast wave from supernova
9.  
a. NGC 2440
b. Puppis
c. Planetary nebula
10.  
a. 3
b. Omicron Ceti
c. Red giant
11. SN 2011fe
12.  
a. 7
b. NGC 7078
c. Planetary nebula
13.  
a. 14
b. J07141
c. X-ray
14.  
a. 12
b. Sagittarius
c. Cassiopeia A
15.  
a. HM Cancri
b. RX J0806.3+1527
c. ROSAT
16. A
17. 3
18. 10
19. Right
20. 6
21. 5
22. C
23. Gravitational waves; Einstein’s theory of general relativity
24.  
a. O
b. No
25. Instabilities in the layers of the atmospheres causing pulsing and throbbing and reactions to different opacities and luminosities within the star
26. White Dwarf
27. A
28. Hydrogen
29. E
30. Roche limit/point
31. A
32. B
33. C
34. F
35. N
36. O
37. G
38. P
39. D
40. Q
41. 20 parsecs
42. 1.49
43.  
a. 8.495E32 kg
b. 0.00235 AU
c. 11.282 gms/cm^3 and 75109.54 gms/cm^3
d. No
44.  
a. 0.0256
b. 2.49E-11 m/s/m (or equivalents)
c. 0.0000133 hundred million years
d. No
45.  
a. 20137 solar luminosities
b. -6
c. 1.58 parsecs
d. Yes
46. Type Ia Supernova have constant absolute magnitudes, which allow people to use the distance modulus since apparent magnitudes are actually very easy to calculate relatively
47. The spectral lines depend on the energy levels of the electrons being emitted, which is dependent on the energy contained in the photon. That has a certain wavelength range. If photon too energetic, neutral hydrogen won’t show since all of the hydrogen’s already been ionized already. Too little, and won’t show up because not energetic enough. Thus, a perfect range for Balmer lines.
48. White dwarves use electron degeneracy pressure (electrons are very fast, which create gas pressure, which allow the white dwarf to stay intact despite the intense gravity
49. Through neutron fusion very quickly after
50. Maybe?????!!!!! =) =) =) =) =) (Probably not, but who knows? People were able to build a space station around Gargantua, so….)(Question always correct to help people feel more comfortable)
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